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On Thread-Parallel Performances of the SMP Machine and Tuning
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Academic Center for Computing and Media Studies in Kyoto University replaced its super
computers trom vector machines to scalar machines. The researchers are interested in
how effectively scalar machines automatically parallelize programs comparing with
vector machines. In this paper, by using 4 benchmark programs for vector machines, we
evaluate parallel performances under the SMP(Symmetric Multi-Processor). Although
parallel performances in two of original programs are relatively low, they are
dramatically improved by tuning techniques for parallelization, such as loop-division,
loop-exchange, and loop-integration. Moreover, we manually modify programs for MPI and
evaluate them. It is shown that the performances under manual MPI are equivalent to those
under automatically parallelization.
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Bl— N — 7B DKITT 7 & ANBF R
RAXINWEET DD, EET I ERALEANTA
K77 EAMREL TV A, BRIEICLY a3

7 OB NP, ANTA KT 7 RILLD
TLB I A2 L W HEEDSHILL T B,
(3) product5
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(1) affine
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(2) grad
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o B DO 300 K=1.N
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310 C(1. =AU+, D-AUL D Be. Fa—=>7F (products)
Bb. Fa—=r7%| (grad)
productd
Fa—= IRBOAT ) HEEE 4 IORT. B wo | o
ILEEDRETT. ZO200RRNBAL—T5 Sl IO
ﬁgt Tiﬁ?ﬁ‘??ﬁllﬁﬁ%#ﬁ)ot: &73‘3#”5” g 100 (matmul)
"]
& 80
#4. A% YR (grad) o .
Fa—=[L2%vyva |[TB I R | AEYTZ S 0 /:
v A (6h) TR %) " ’,/
#f 32.9950 0.5789 98.39 . ~
% 3. 4604 0. 0000 41.98 0 16 32 48 64 80 9 112 128
(N=50000, CPU=4) CPUR
X 3. products Fa—=r7%hR
(4) shift3
grad N—TMEEITH> LT, ROV —FTT 7+
o | sy A BRFTEH EOEFEENSBFLS ., KoL
120 H o vTTHE) —TRBOBIZIIZEDRTHFEADT —Z 32T
B 100 M e tysHn For¥xvalbkind, Fa—= s TIZ0o0THE,
R H —* Kdz258, K4 ZE58DRETT
B 80 o [=] *
4‘£ 60 /
A _— Fam= L IEEDAE ) RREERS IR, W
2 / BN, FFRICKE BB D o722 L AW B,
I
0 16 32 48 64 80 9 112 128 #&5. A% YMAE(shiftl)
CPUR Fa—=|L2Frvia |TB I RA[| AEVT
M2. grad Fa—= 7R 7 1AM %) 2 %)
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DO 10 J=1,NN
DO 10 I=1,NN
AT, 1) =A(1+1, J) +0. 48%B (1, J) +0. 122% (B(I-1,
I +B(I, J-1) +B(1+1, J) +B(1, J+1))

10 CONTINUE

DO 100 J=1,NN
DO 100 I=1,NN
A(1, J)=A(1+2, J) +0. 46%B (1, J) +0. 118+ (B(I-1,
D +B(IL, J-1) +B(I+1, 1) +B(1, J+1))
100 CONTINUE
| KR
DO J=1,NN
DO 10 I=1,NN
AL, D) =A(1+1, J) +0. 48+B (1. J) +0. 122% (B(I-
1, 1) +B(I, J-D+B(I+1, ) +B(I, J+1))
10 CONTINUE

DO 100 I=1,NN
AL, D =A(1+2, J) +0. 46%B (I, J) +0. 118 (B(I-
1, )+ B(I, J-1) +B(I+1, J)+B(1, J+1))
100 CONTINUE
ENDDO
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4. VPP & DHBELLES

Fujitsu VPP5000 ® ICPU TRIL 70 ¥J L% E
#IL. HPC2500 DEBPHE LB L=, &HiC, AL
v FIEFIT 32CPU DFALBEIE LT-. &6 [CRIER
RO FERERT. 2HROMIZ-OVTIL HPC2500
DICPUZE | & LIET-BEOMEDRLI|LTWAS,
VPP5000 i *— 7 4 9. 6GFlops. HPC2500 {I t"—
7 %8 7. 28GFlops Tdh B, LINPACK (2L 5 &, SMP
DRI E—7 D 505 METHDN, BRELEX
BHAv, VPP5000 & HPC2500 (X, #9 2.6 {F & #ERISh
%, shift3 Tix, RIREOMRENH TS L2 3,
2%, affine IZBI L Cid, WHSAR0NEBERICAZS X
IRKREXNTEE, ETBORRDID, PIET
EXAY/eY N

& 6 : VPP5000 & HPC2500 DAL E:

Sige VPP5000 HPC2500
Bench ™) CPU 1 ] 32
mark B
500 BFR 2, 864 25,611 967
pES 8.94 1.00 26. 49
grad 5000 FFRA 393, 423 | 2,679,202 | 101, 226
she 6.8l 1.00 [ 26.47
FRF ) 2, 147 903 33
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1000 f—
Shifts L 3.15 1.00 [ 32.97
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e 3.55 1.00 | 30.84
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Mgl : R Fv—2r 0l T AOFENL—TH
&7 Y5 LAOEEL—TREUTIZTRT,
Mi#& 1 : affine

DO 300 J=1,N
DO 300 I=1,N
FI=REAL (I-N/2) /2-REAL(J-N/2) /SQRT(12. 0} +N/2
FJ=REAL (I-N/2) /SQRT (12. 0) +REAL (J-N/2) /2+N/2

C(1, J)=ACINT(FI)., INT(F]) ) * (FI-AINT (FI) +1)* (FJ-AINT (F]) +1)
+A(IN$(FI)+1, INT(FJ)) *(AINT (FI)-F 1) * (FJ-AINT (F]) +1)
+A(IN$(F1). INT(FJ)+1) * (FI-AINT (FI) +1) * (AINT (F]) -F])
+A(IN:(FI)+1, INT(FJ) +1)* AINT (FI) -F1) * (AINT (FJ) -FJ)

300 CONTINUE

affineTix, EFIOMEZRBEIToTWV 5,
MR 2 : grad

DO 300 J=1,N-1
DO 300 I=1,N
B(L )=A(1, J+D-A(1, ])
300 C(J,D=AJ+1. D-A(. D
DO 400 I1=1,N
B(I, N)=A(I, D-A(I,N)
400 C(N, D=A(1,DD-AN, )
DO 500 J=1,N
DO 500 I=1,N
500 A(I, J)=ATAN2(B(I, ), C(1. ]

gradTit., BEHIO xRNy BiFROED %
Ko, BERIZK L Tatan2iE 2 {T> T\ 5,
Mtz 3 : productb

DO 300 I=1,N
DO 300 J=1,N
C(1, =0
DO 300 K=1,N
300 C(1,J)=C(I, D+A (1, K) *B(K, J)

product5 T THIFEEIT> T 5B,
[t 4 : shift3

DO 10 J=1,NN
DO 10 I=1,NN

A(1, 1) =A(1+1, ])40. 48*B(I, J) +0. 122% (B(I-1, ) +B(L, J-1)+B(I+1
, D+B(1, J+1))
10 CONTINUE

DO 20 J=1,NN

DO 20 I=1,NN

A(L, J)=A(1+3, J)+0. 44*B(1, J) 0. 114*(B(I-1, ) +B(I, J-1)+B(I+1
D +B(TL J+1)
20 CONTINUE

DO 30 J=1,NN

DO 30 I=1,NN

A(L, 1) =A(1+5, J) +0. 40*B(I, J) +0. 106* (B(I-1, J}+B (I, J-1)+B(I+1
LD +B(1, J+1))

30 CONTINUE

DO 40 J=1,NN

DO 40 I=1,NN

A(L 1) =A(I+7, 1) +0. 36%B (I, J) +0. 098+ (B(1-1, ) +B(I, J-1) +B(I+1
L DHB(I, J+1))

40 CONTINUE

DO 50 J=1,NN

DO 50 I=1,NN

A(L, 1)=A(1+9, J)+0. 32*B(I, J) +0. 090% (B(I1-1. J)+B(I, J-1)+B(I+1
D +B(1, J+1)

50 CONTINUE

DO 60 J=1,NN

DO 60 I=1,NN

A(I, D)=A(1+10, 1) +0. 30%B (1, J)+0. 086 (B(I-1, J)+B(I, J-1) +B(I+
1, D+B(I, J+1))

60 CONTINUE

DO 70 J=1,NN

DO 70 I=1,NN

A(I, ) =A(1+8, J) +0. 34*B(1, J) +0. 094 (B(I-1, D) +B (1, J-1)+B(I+1
LB JHD)
70 CONTINUE

DO 80 J=1,NN

DO 80 I=1,NN

A(T, 1) =A(1+6, J) +0. 38%B(I, J) +0. 102%(B(I-1, D+B(I. J-1) +B(I+1
DB, J+D)
80 CONTINUE

DO 90 J=1,NN

DO 90 I=1.NN

A1, 1)=A(1+4, J)+0. 42%B(1, J)+0. 110%(B(I-1, ) +B(I, J-1)+B(1+1
LD 4B(I, J+1)
90 CONTINUE

DO 100 J=1,NN

DO 100 I=1,NN

AL, 1) =A(1+2, J)+0. 46*B (I, J) +0. 118*(B(1-1, ) +B (I, J-1)+B(I+1
L DHB(I, J+1))
100 CONTINUE

shift3 T, EFIAOxENT M2 1~10FERBEN - FERIZ
LT, BFIBR OEIFIBD 4 EIE DR * OMBRERE
Mz T3,



